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1.Your company has developed a service that allows your customers to check the status of an order. The
schema for the service is shown here:

<xzd: schema xmlns:xsd="http://www.w3.ocrg/2001/IMLSchema™>
“<xsd: element name="OrderStatuslookup ">
<xad:complexType>
<xad: sequence>
<xad:element name="customerID" typz="xsd:atring"f}
<xad:eslsment name="orderID" typa="xzd:string"f>
</xad: sequence>
</xad:complexType>
“fx=d: element>
“sed: alament name="Crdsr3tatusbesponss =
<xad: complexType>
“<xsd: sequences
<xad: element name="orderID" type="x=ad:string”/ >

“<xad:element name="status” type="xsd:string"/>
<xzd:element name="comments" type="x=d:string"/>
</xad: sequence>
</xad: complexType>
</xad: element>
<fsad: schema>

A new customer plans to use your service, but they want to test it first. They have asked for two sample
XML documents that show typical input and output message content. Which of the following pairs of XML
elements will validate with the schema shown above?

T A <OrderStatusLookup>
<customerID>12345</customerID>
“prderID>44F1Z</orderID>

</oOrderstatusLookup>

<0rderftatushesponzes
<orderID=44F1l2</orderID>
<ztatus>PENDING=/=statua>
":‘._'LIMHIJ.L::I:-'WI:I.LLJ-.IJ.H fwr back weider Lu be [11led~</cwunernl=s
“comments>Will advisze when in =ztock.</comments>
</0Order8tatushespon=ea>

© B <0rderstatusLookup>
<customerID=12345</customecID>
<orderID>44F12</orderID>
</0Order8tatuslookup>

<Order8tatusResponse>

<orderTD>44F12</orderID>

<comments>Waiting for back order to be filled</comments>
</0OrderStatushesponse>

© C.  <orderStatusLookup>
<orderID>44F1Z</orderID>
<customerID=12345</customerID>
«/Ordergtatuslookups

<0rderStatusResponse>

<orderID>44F12</orderID>

<status>PENDINZ</status>

<comments>Waiting for back order to be filled</comments>
«/fOrder8tatushesponzes>

© D, MNone of the above
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A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

2.A partner organization has given you samples of XML documents retrieved from their product
information database. The three samples they have sent you are: Because they are an important partner,
you have agreed to write a service to accept XML documents in their format. However, they did not send
you a schema, so you are tasked with defining a schema that will correctly validate their documents.
Which of the following XML schemas will successfully validate each of the above XML document
fragments.?

<product>
<number>1Z23DD</number>
<name>3-Compartment Travel Eit</name>
<guantity=2</gquantity>

</product>

<product>
<number>445A48</number>
<quantity>l</gquantity>
<name>13 inch. Rolling Suitcase</name>
</product>

<product>
<pumber>343AC< numbe >
<gquantity>l</quantity>
<name>Deluxe Travel Pillow</name>
</product>
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™ A =xsd:schema smlnas:xsd="http:/  www. w3, org/Z001/IMLIchema ">
<usd: alement name="produst">
<xad: complexType>
<xad: sequencer
<xsd: element nane="number” type="xad:string"/>
<x=zd: element nane="name” type="mxsd:string"/ />
<xzd: element name="guantity” type="xsd:integer"/>
<fu=d: gequence>
</ wad:complexType=
“</xad: elements>
<fxad: schema>

T B, <x=d:schema xmlns:xsd="http://vwww.w3.org/Z001/XML3chema™>
<x=2d: element name="product">
<ysd:complexTypes
<xsdiall>
<xad:element name="guantity" typs="xad:integer"/>
<x=ad: element nane="number” type="xasd:string"/ />
<x=d: element nane="name" type="xad:string"/>
</x=sd:all>
</x=d:complexType>
</xsd:element>
</xad: schema>

™ €.  <x=d:schema sanlns:xsd="http://veme.wd. org/2001/ZMLAchens ">
<x=d:element name="product'">
<xad:complexType>
“xad: sequencer
<x=2d: element nane="number” type="xsd:string"/ >
<xsd: element nane="name" type="x=d:string"/>
<x=d: element nane="gquantity” type="wad:integer®/>
<xsd:element nane="name"” type="mxad:string"/>
</x=d: sequence>
</ xad: complexType>
</xad:element>
</xad: schema>

© 0. Mone of the above

A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

3.Your company has developed a PO service that allows customers to submit purchase order documents.
The message sent by a customer must be based on a predefined "purchaseOrder" element and the
message received by the customer is based on a "messageAcknowledgement" element. These two
elements are defined in the following two separate XML Schema definitions: The "purchaseOrder.xsd"
schema:
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<xad: achema »mmlns:xsd="http:// wwne, w2, org/2001/ZMLEchema™
targetNamespace="http: / /v, example. org/po™=
<xsd:element name="purchaseOrder™>
<xad:complexiype>
<xsd: sequence>
<xsd:element name="number”™ type="xad:string"/>
<xad:element name="date" type="xsd:date”/>
<xad: element name="amount” type="xsd:decimal"/>
“xad: element name="description" type="xad:string"/ /=
</wad: sequences
</ aed: cunplexType>
</ xsd: element>
</x=d: schema>

The "ackxsd" schema;

<x=d: schema smlns:xsd="http://vww. w3, org/2001/IMLI3chema "™
targetNamsspace= "hitp: / fvnne, sxample. nrg/ ack ™
<x3d:element name="nessageAcknowl edgement”>
<xsd: complexType>
<mxad: sequence>
“<xad: element name="number” type="xsd:string”/ >
“xzd: element name="dateRecelived"” type="xad:date"/>
<xzd:element neme="status" type="xsd:string"/ >
</xad: sequence>
</ xsd:complexType>
</xad: elemant>
</s%ad: schema>

Note that these two schemas have different namespaces. That is because the "purchaseOrder.xsd"
schema is specific to purchase order-related functions, while the "ack.xsd" schema is more generic and
used for a variety of different purposes.
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A «definitions name="EOHervice"
targetNamespace="http://www, example. org/wadl/po”
rmlns="http://schemas, mlsocap.org/wadl/ "

Hulns: po="http: //www, example. org/po”
=mlng: ack="http://www, example.org/fack”
xnlns: xsd="http: //wwme. w3, org/2001/ XMLEchetma ">
=types>
“xsd: schema targetNamespace="http://ewwm. example. org™>
<xezd:impcrt namespace="http://www, exemple.org/po"”
schemaLocetion="purchaselrder.xsd"/>
<xyad:iimpcrt nameapace="http://www. example. org/ack”
schemalocation="ack. xsd"/ >
</x=ad: schena>
</types>
<message name="submitPOMessage™>
“<part name="PO" element="po:purchaseOrder"/>
</message>
<message name="POAcknowledgement”>
“part namse="PO" element="ack:messagescknowledgement”/>
“/message>

<fdefinitions>

T B <definitionz name="POService”
targetNamespace="http:/ /fvnmw. example. org/wadl/po®
xmlns="http://schemas. amlsoap.org/wadl/"
sanlns: po="http: //www, example. org/po™
xmlns:ack="http: / /v, example.org/ack"”
sxmlna:sad="http: / /v, w3, org/2001/EZMLSchema ">
<types>

<xsd: schema targetNamespace="hittp://wen. example., org ™
<xsd:impert namespace="http:/ /v, example. org/po
schemalocation="purchaseCrder. xsd"/>
<xsd:impcrt namespace="http://www.example, org/po”
schemalogation="ack.xsd"/ >
</xzd: schema>
</types>
<message name="submitPOMessage™>
<part name="P0O" element="po:purchaseCrder”/ >
(_}'mn am m]'n:}
<message name="FOAcknowledgement”>
<part name="PO" plement="ack:messageAcknowledgement"/>
</measage>

</definitions>

T C. <definitions name="POService”
targetNamespace="http: //wenw. example. org/wadl/po”
xmlns="http://schemas. xmlovap.ocg/wsdl,/ "
xnlns: po="http: / /www, example. org/po”
xnlns: ack="http://www, example.org/ack”
wmlne: xsd="http: /v, w3 . ocg /2001 / EML Schema ">
<types>

<x=d:schema targetNamespace="http://www. example. org™>
<xsd:import namespace="http://wwns. example, org/po”
schemaanatinn="purchaseﬂrdar.xsd"fﬁ
<xsd:import namespace="http://www,. example.org/ack"
achemaLhocation="ack . xad " />
</x=d: schena>
</types>
<message name="submitPOMessage"™>
<part name="PO" element="po:purchaselrder"/>
“</messager
“<mesggage name="FlAcknowledgement”>
<part name="PO" element="po:messageAcknowledgement”/>
</message>

</definitions>

0. MNone of the above,
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A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

4.Your developer is asked to build a Timesheet service that is able to receive timesheet submissions for
an internal payroll system. Service consumers need to be able to send this service request message
based on a root "employeeHours" element within the SOAP message body. The "employeeHourse"
element will contain "ernplD" and "hours" child elements. Furthermore, the service needs to return a
message based on a "response" element that contains "emplD" and "status" child elements.

Your developer comes to you with the following WSDL definition: The only revision you suggest is that the

value of the "style" attribute of the "soap: binding" element be changed to "document" instead of "rpc".
Why?
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<definitions name="Timeshast”
targetNamespace="http: / /v, example. org/wadl/timeshest”
xmlns: tha="http: / /v, example. org/wadl/timeshest™
ymlns: timesheet="http:/ /v, example. org/timesheet”
mins="http:// schemas.xmlsoap. ocg/wadl/ "
xmlns: xzd="http: //www.w3. org/2001/iML3chema"
xmlns: soap="http://schemas.mlscap. org/wsdl/soap/ ">
<types>
<xzd: schems
mnlns: xsd="http://www. wl., org/ 2001/ EMLEchema "
targztNamespace="http://www, example. org/timesheet ">
<x=zd: element name="employeeHours">
<xad:complexType>
<semd s seguenc e
<xsd:element name="empID"
type="xsd:integer™/ >
<xad:eslement name="hours"
type="x=sd:decimal"/>
<fxad: sequence>
</xad: complexType>
</xsd: element>
<xzd: element namse="responszs">
<wad:complexType>
“x=ad: sequences
<xsd:element name="empID"
type="xasd:integer"/>
<ysd:element name="status"
type="xsd:atring"/>
</x=d: segquence>
</xad: complexType>
</xad: element>
</ xsd; schema>
</types>
<message name="TimmaheetMessage">
<part name="Timssheet"
elenent="timssheet:employeeHoura”/>
</message>
<message name="TimesheetResponse">
<part name="Response"”
elenent="timesheet:response"/>
</messager
<portType name="TimeshesetInterface™>
<pperation name="SubmitTimesheet">
<input message="tns:TimesheetMessage™/>
<putput message="tna:TimesheetResponse™/>
</operation>
</poctType>
<binding name="TimesheetBinding"
type="tna: TimesheetIntarface™>
<soap:binding style="cpa”
transport="http://schemas.xmlsoap. org/soap/http”/ >
<operation name="3ubmitTimesheet">
<zZpap:operation
scaphction="http:/fwwe. example. org/ SubmitTineshest />
<ipput>
<spap:body use="literal"/=>
</input>
<putput>
<szoap:body uss="literal"™/>
</ ouLput>
</operation>
</binding>

</definitions>

8/10



The safer , easier way to help you pass any IT exams.

A. With a value of "rpc", the root element within the SOAP message body will have the name of the
operation, and therefore cannot be named "employeeHours" as indicated by the requirements.

B. With a value of "rpc", the root element within the SOAP message body is unable to be part of an
operation that contains both "input" and "output”" elements.

C. The value of "rpc" is not a valid value for the "style" attribute.

D. None of the above.

Answer: A

5.You are a consultant helping a large bank implement an on-line banking service for its customers. The
first operation you need to build is one that allows a customer to initiate a transfer of funds. You are
presented with the following sample XML document that represents the funds transfer information that
this operation needs to be able to receive:

<transfer>

< fromAccount>12345 </fromAccount>

< toAccount>44432 </toAccount>

<amount>2000</amount>

</transfer>

You are also provided with the following sample that shows that the response message sent by the
service needs to return a single element with text content:
<transferStatus>SUCCESS</transferStatus>

Which of the following XML schemas will validate the two samples shown above?
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© A <xsd:schema sxmlns:xsd="http://www.w3.org/2001/XMLchena ">

<xad:element name="transfer">
<xad:complexTypes
<x=d: sequence>
<xzd: element name="fromdccount” type="xsd:integer"/=
<xzd: element name="tohccount” type="xsd:integer"/>
<x=zd: element name="amount" type="xsd:decimal®™/>
</x=d: sequence>
</xad:complexType>
</xad:element>
<xsd:element name="transferdtatua’>
<xsd:complexType>
<x=d: ssgquence>
<xsd: element name="status"™ type="usd:string"”/ >
</ w=d: sequence>
“<fusd: complexTypes
</xad: element>
<fxad: achema>

Al = <xad: gchems xmlns:xsd="http:// v, w3, org/2001/MLSchema ">

<xsd:element neme="transfer" type="transferType"/>

<xad: element name="fromhccount™ type="xsd:integer"/>

<xsd:element name="toAccount” type="xsd:integer"/>

<xsd:elerent name="amount” type="Txsd:decimal”/>

<xsd:element name="transferd3tatus” type="xad:string"/>
</ xad: schema>

" C. <xsd:schema smlns:xsd="http:/ www.w3d.org/2001/EMLEchema™>

<xad: slement name="transfar'>
<xsd:complexType>
<yamed: saquence>
<xsd: element name="fromAccount”™ type="xsad:integer”/>
<xsd: element name="toAccount” type="xsd:integer”/>
<xsd: element name="amount” type="xsd:decimal"/>
</ x=sd: sequence>
“fxwsd: complexTypes
</xsd: element>

<xsd:element name="transferStatus" type="xad:string"/>
< xad: schema>

0. Mone of the above

A. Option A
B. Option B
C. Option C
D. Option D
Answer: C
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